
No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.

























 
	
  

	
  

	
  

Achievement (09) 

	
  
Question One - A3 

	
  

Part (a) The candidate provided evidence of Achievement by explaining the possible impact 

on production and explaining the impact on future sales for the business. 
 

	
  

The candidate repeated some of the stimulus material in the answer and failed to add the 

extra information needed to take the answer to a fully explained for the impact on future 

sales. 

	
  

Part (b) Two competitive businesses are named. 

	
  

The candidate explained a strategic response to t h e  entry of a foreign multinational into the NZ 

domestic market. 

	
  

The candidate failed to explain a positive impact and the negative impact answer did not make sense 

with regard to the strategic response. 

	
  

Question Two - A3 

	
  

Part (a) The candidate provided evidence of Achievement by explaining the role of manaakitanga 

and explaining one impact of demonstrating whanaungatanga. 

	
  

The candidate failed to add the extra information needed to fully explain one impact of 

demonstrating whanaungatanga. 

	
  

Part (b) The candidate explained a strategic response to create greater cultural awareness 

by employees. 

	
  

The positive impact of the strategic response does not make sense and states that the business will 

expand through having increase cultural awareness but does not explain how this expansion will 

occur and how it relates to the strategic response. 

	
  

The negative impact is only stated (that employees may not be willing or interested in Māori 

customs) but the candidate does not explain why or how this will impact on the business. 

	
  

Question Three - A3 

	
  

Part (a) The candidate provided evidence of Achievement by explaining one impact on sales 

but explained the impact on the business and not on the workforce. 

	
  

Part (b) The candidate provided a strategic response to the potential natural disaster and a 

positive impact of this response, but the negative response does not make sense and shows a 

lack of understanding of the financial impact of the response. 


